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Type two numbers: 2568 8781
Before swap: a = 258, b
After swap: a = 8981, b

Press any key to continue
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Swap A&

#include <stdio.h>
#include <malloc.h>

void swap_own (int *a, int *b); void swap_own (int *a, int *b)
{
}/0|d main (void) *3 = *a + *b:
. 7':b = :’ra _ :'rb;
int *pa, *pb; ) B )
cCa = aa - 7\b;

pa = (int *) malloc (sizeof(int)); }
pb = (int *) malloc (sizeof(int));

printf ("Type two numbers: ");
scanf("%d %d", pa, pb);

printf ("Before swap: a = %d, b = %d\n", *pa,
*pb);

swap_own (pa, pb);
printf ("After swap: a = %d, b = %d\n", *pa, *pb);

free (pa);
free (pb);
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> Result * = num;
> intd 1} floatd ol =HA|ZHZ2 H|

» lock_t clock(void);
> cclock e 2EE(US W] A|AH A|ZHS cLOCKS_PER_SEC THR| 2
3

void main( void )
{
clock_t start, finish;
double duration;
start = cIockpb
/| T=dAE SE5 X5t ZE.
finish = clock();
duration = (double)(finish - start) / CLOCKS _PER_SEC;
printf("%f 2= & LI CF.\n", duration);
}
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Input length: 5
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fib(n) = 1 if n=1
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